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Time: 3 hours Max Marks 75
Answer any Five Questions
All Questions Carry Equal Marks

Ao .a)  What_are, the adantages of optical fibers and why generally thig is-not used for long-.
!_5{....,;\ /dmtance eommunications?; m,:,, - ,f._..\ Py h‘s,\_ - _’_d,..."},\ Lo
£ v et ) /Whatls the roleof MCVD'in the fabrlcation procéss of optical fibér? £h e

¢) What are the range of low transmission windows in an early optical fibers? [7+4+4]
2.a) How snell’s law is used to describe the refraction at the interface between two different
light transmitting materials?

A b) Fmd the. Numerlcal Apcrture of multlmode step index fi ber has core. mdex 1. 42 and an mdex

AN dlfferenqg is 0. OI.f [ / { \)\ \_s \ /
/TN i ©) /Fow Yight is propagated inistep m’dex Opncal fiber? B p1am it w1th’su1tablc dfagrams \

[4+4+7]
3. Define and distinguish the following losses with respect to optical fiber,
a) Scattering b) Bending c) core d) cladding. [15]

/A 7 4a)  Explain the pringiplesof “working” of 4 hlgh radlance ‘Surface emm‘.mg '"EED thh B neat ™
;~*\\\ Schiematig structyire dlagram ,‘“" o ““‘\ v bty 3, "5\ o
’ " 'b) "What is'a LASER action? How it is used io generate a light and used for optlcal ﬁbcrs? o

[8+7]
5.a) How photo carriers are generated in pin diode and hence generates the electric field?
b)  What is responsivity and how is used to measure the performance of photo diode?

,-“-.\ - }_\ o, ,i e -’x e, ‘,, ’__,, ....... . [8 +7]
;,gf_,}\ —6 a) ,Explam control]edrfracture techmque for cleavmgif’ Eers wnth su1table dlagram ,...3 S
/Mt ) Whit sre’the principle feqitirements of d-ggod corinector for optical fibérs?- [8+7]‘ et

7.a) A2 x2 biconical tapered fiber coupler has an input optical power level of Po=200pW.
The output powers at the other three ports are P\= 90 pW, P-= 85 uW, and P3=6.3 nW. Find
coupling ratio, insertion loss, excess loss and crosstaik.

A e D) What are, the key system features of WDM and how it differ from FDM‘) [8+.7] e

&;f N v 7 /\5 ’;\ u-: L_-«-
/N -8.) What are-the dlff;é\nt systbm parﬁters néeded tb analyze the linf \ 1 /N

b) How link power budget analysis is used to determine the power margin in optlcal systems"
[5+10]
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